[bookmark: _GoBack]Use the provided “Finch_Biol120” dataset to answer the following questions:

A note about the dataset: Band refers to an individual's identity; more specifically, the number on a metal leg band it was given. Species name is Geospiza fortis, which is the medium ground finch. Sex is indicated as male, female, or unknown. The reason for the "unknown" category is that males start their lives looking like females; after one or more years they molt into a plumage with some black feathering that indicates they are males. The heading "first adult year" refers to the year after the individual hatched from an egg.  The next six columns provide the morphological measurements of individuals.  Weight is in grams; the other measurements are in millimeters. Tarsus is part of the leg.



1. You are investigating average beak size in 1973, 1975, and 1976.  Which of the following most accurately describes the figure you would generate?
a. I would make a scatter plot, with year on the x-axis and beak depth on the y-axis.
b. I would make a column graph, with year on the x-axis and beak depth on the y-axis.
c. I would make a scatter plot, with beak depth on the x-axis and year on the y-axis.
d. I would make a column graph, with beak depth on the x-axis and year on the y-axis.

2. You are interested in investigating the relationship between wing length and weight.  Which of the following most accurately describes the figure you would generate?
a. I would make a scatter plot because both variables are continuous.
b. I would make bar graph because one variable is continuous and the other is categorical.
c. I would make a pie chart of beak depth only.
d. I would make a line graph because all of the data points should be connected.

3. Look at your data, which of the following is an appropriate classification of a variable?
a. Beak depth is a numerical/continuous variable
b. Wing length is a discrete/categorical variable
c. Sex is a numerical/continuous variable
d. Weight is a discrete/categorical variable

4. How many individuals were in their first adult year in 1975?
(Hint: You will want to sort the data before you count.)
a. 17
b. 39
c. 44
d. 100


5. What was the average (mean) beak width for females?
(Hint: You will want to sort the data before you calculate the average.)
a. 8.65mm
b. 9.24mm
c. 9.64mm
d. 10.76mm
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7. Create a scatter plot or column graph of any two variables of your choice.  Make sure that you are choosing variables of the appropriate data type for your figure.  Label your axes (and relevant measurements).

8. From questions 7, answer one of the following:  
a) Explain why you chose to graph that data, specifically.



b) Provide a brief figure summary that explains the results.
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